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Refer to Exhibit 1. If the economy is operating at point C, the opportunity cost of producing an

additional 15 units of bacon is
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Exhibit 1
a. 10 units of eggs.
b. 20 units of eggs.
c. 30 units of eggs.
d. 40 units of eggs.

Refer to Exhibit 1. If the economy were operating at point E,

ao o

Which of the following statements is true if the government places a price ceiling on petrol at NTD 50

per liter and the equilibrium price is NTD 32 per liter?

a. A significant increase in the demand for petrol could cause the price ceiling to become a

binding constraint.

b. A significant increase in the supply of petrol could cause the price ceiling to become a

binding constraint.

the opportunity cost of 20 additional units of eggs is 10 units of bacon.
the opportunity cost of 20 additional units of eggs is 20 units of bacon.
the opportunity cost of 20 additional units of eggs is 30 units of bacon.
20 additional units of eggs can be produced with no impact on bacon production.




REKE 102 L5 EALHNEARD LS RRA

F2R'#£4 R
A - R
. | 2¥EE22ALHEAC DA e | 100 54k
# _ ES
2 S A I

: @ 2 o 100 %

c. There will be a shortage of petrol.

d. There will be a surplus of petrol.

4. Suppose an industry emits a negative externality such as pollution and the possible methods to
internalize the externality are (1) command-and-control policies, (2) Pigovian taxes, and (3) tradable
pollution permits. If the policy maker were to rank these methods for internalizing a negative externality

based on efficiency, ease of implementation, and the incentive for the industry to further reduce
pollution in the future, they would probably rank them in the following order (from most favoured to

least favoured):

oo T ow

Pigovian taxes, command-and-control policies, tradable pollution permits.
tradable pollution permits, Pigovian taxes, command-and-control policies.
tradable pollution permits, command-and-control policies, Pigovian taxes.
command-and-control policies, tradable pollution permits, Pigovian taxes.

5. Which of the following is true with regard to monopolistically competitive firms' scale of production and

pricing decisions? Monopolistically competitive firms produce

ao TP

at the efficient scale and charge a price equal to marginal cost.
at the efficient scale and charge a price above marginal cost.
with excess capacity and charge a price equal to marginal cost.
with excess capacity and charge a price above marginal cost.

6. Which of the following is an example of foreign direct investment (FDI)?

a o o P

General Motors buys steel from Taiwan.

Toyota of Japan buys shares in Volvo of Sweden.

McDonald's builds a restaurant in Taipei.

UK publisher Bloomsbury sells the rights to make a film of a Harry Potter book to an
American film studio.

7. A profit-maximizing monopolist finds that if it remains open, the best output is 50 a week;, but at this

output it would make a loss. Under what circumstances should it shut down?
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If AR at this output is below SAC.

If AR at this output is below AVC.
If MR at this output is below SAC.
If MR at this output is below AVC.
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8. Suppose a monopolist discriminates between different groups of customer. Which of the following

statements is false?

a. The best strategy for the monopolist is to set the highest prices for the types of customer
with the least elastic demand.

b. Some customers will face a higher price than they would if the firm did not adopt price
discrimination.

c. By having a relatively low price for some groups of customers, the monopolist is sure to
make less profit than it would without price discrimination.

d. The monopolist might be able to make more profit by instead discriminating between

different individual customers.

9. Assume that the market for personal computers (PCs) begins in equilibrium. Then, there is a decrease in
a price of CPU used in the production of computers. When the new equilibrium is reached,

the price of computers will have fallen and the quantity will have risen.
the price of computers will have risen and the quantity will have fallen.
the price and quantity of computers will both have risen.

the price and quantity of computers will both have fallen.
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10. Assume that net exports increase by $1 billion. Equilibrium Real GDP will rise by more than §1
billion. Explain why.

a. Anincrease in net exports causes an increase in tax revenues which increases government
spending.

b. An increase in net exports appreciates the dollar causing a further increase in net exports.
An increase in net exports causes an increase in the money supply.
An increase in net exports increases income causing an increase in induced consumption.

11. The aggregate demand (AE) curve would shift down if

government spending were increased.
taxes were increased.
the interest rate decreased.
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the money supply were increased.

12. Ifthe Central Bank (41T) wishes to decrease (tighten) the money supply, it should
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a. buy Treasury securities in the open market
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b. raise marginal tax rates
c. raise the discount rate
d. lower the reserve requirements

1. Derived demand

Perfect price discrimination
Economies of scale

Gini coefficient

FTA

Paradox of thrift

Market failure
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Comparative advantage
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